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M.Marks:80
GENERAL INSTRUCTIONS:
(A) Questions from 01 to 10 carry 1mark each.

(B) Questions from 11 to 15 carry 2marks each.

(C) Questions from 16 to 25 carry 3marks each.

(D) Questions from 26 to 30 carry 6marks each.

(E) All questions are compulsory.

(F) Internal choice has been provided in every section.

SECTION A
1. Give an example of two surds whose product is a rational number.

2. Find the quadratic polynomial, the sum and product of whose zeroes are -3 and 2 respectively.

3. What is the value of k for which the quadratic equation kx2 – 2kx + 6 = 0 has equal roots?

4. Is -150 a term of 11,8,5,2 ………? Why?

5. [image: image19.png]In the given figure PQ and PR are two tangents from the point P to a circle with centre O. If LOPQ=350, find LQOR?                                                Q

                                                                                                                            

                                                                                                                             P

6. Evaluate: 3cot2θ – 3cosec2θ                                   R
7. A hall is 20m long and 16m wide. The area of its four walls is equal to the area of floor and ceiling together. Find the height of the hall.
8. In the given figure XY//BC. Given that AX=3cm, XB=1.5cm and BC=6cm. Find XY?
                                                                                                                 A
                                                                                                                  X                       Y

                                                                                                             B                                  C

9. Find the mean of median of 2,8,3,7,4,6,7 and the mode of 2,9,3,4,9,6,9?

10. Write the sample space when dice is thrown?

SECTION B

11. Find the point on y axis which is equidistant from A (6, 5) and B (- 4, 3)?

12. Divide the polynomial 30x4 + 11x3 – 82x2 – 12x + 48 by 3x2 + 2x – 4. Find the quotient and remainder? 

13. Without using trigonometric tables find the value of [image: image2.png]
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14. A card is drawn from a pack of cards. Find the probability of getting (a) a face card (b) a black face card?

15. In a figure a circle touches the side of BC of ∆ABC at P and touches AB and AC produced at Q and R respectively. If AQ=5cm, find the perimeter of ∆ABC
                                                                                                                    Q           B

                                                                                                                                     P                   A
                                                                                      C

                       SECTION C                         R          

16. The traffic lights at three different crossings change after every 48sec, 72sec and 108seconds. If they change simultaneously at 7a.m, after what time will they change again simultaneously? 

                                                   (OR)

 Prove that [image: image6.png]V2+43



 is an irrational

17. Find the zeroes of the quadratic polynomial x2 – 5x + 6 and verify the relationship between the zeroes and coefficients?

18. Draw the graph of the following pair of linear equation x + 3y = 6 and 2x – 3y = 12. Hence find the area of the region bounded by x=0, y=0 and 2x - 3y = 12

19. For what value of k the points (1, 5), (k, 1) and (4, 11) are collinear?

20. Find the sum of all three digits numbers which have the remainder 3 when divided by 5

21. In what ratio does the line x – y – 2 = 0 divides the line segment joining points (3, -1) and (8, 9)?

22. Construct ∆ABC in which CA = 6cm, AB = 8cm and BC = 7cm and then construct a triangle similar to the given triangle whose sides are [image: image8.png]


 of the corresponding sides of ∆ABC.

23. If a cosecant A = p and b cot A = q then prove[image: image10.png]
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 = 1   (OR) [image: image14.png]Ny
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  = 2 Cosec A

24. Four equal circles are described about the four corners of a square so that each touches two of the other as shown in the given figure. Find the area of shaded region, each side of the square measuring 14cm (take ∏= [image: image18.png]


)

                                                                                                                                        A

25. In the given figure, considering ∆BEP and ∆CPD. Prove that BP X PD = EP X PC   

                                                                                                                                  E                  D

                                                                                                                          B                              C 

SECTION D

26. A person on tour has Rs.360 for his expenses. If he extends his tour for 4 days, he has to cut down his daily expenses by Rs.3. Find the original duration of the tour.

27. A solid is in the form of a right circular cone mounted on a hemisphere. The radius of the hemisphere is 3.5cm and the height of the cone is 4cm. The solid is placed in a cylindrical tub, full of water in such a way that the whole solid is submerged in water. If the radius of the cylinder is 5cm and its height is 10.5cm, find the volume of water left in the cylindrical tub (use ∏ = 22/7)        

                                                         (OR)                                                                                                  A bucket is in the form of frustum of a cone with a capacity of 12308.8cm3 of water. The radii of the top and bottom circular ends are 20cm and 12cm respectively. Find the height of the bucket and the area of the metal sheet used in its making (use ∏ = 3.14)

28. Determine the height of a mountain if the elevation of its top at an unknown distance from the base is 300 and at a distance 10cm further off from the mountain along the same line the angle elevation is 150. (use tan 150 = 0.27) 

                                                         (OR)                                                                                      Two pillars of equal height and on either side of a road which is 100m wide. The angles of elevation of the top of the pillars are 600 and 300 at a point on the road between the pillars. Find the position of the point between the pillars and the height of the each pillar?

29. “The ratio of areas of two similar triangles is equal to the ratio of the squares of their corresponding sides.” Prove it.  Use the above theorem determine the ratio of the areas of ∆AOB and ∆COD of trapezium ABCD in which AB//DC and AB = 2DC

                                                                                              D                                        C

                                                                                                                   O

                                                                             A                                                                       B

30. The following table gives the distribution of the life time of 100 neon bulbs. Find the modal life.
	Life time


	No. of bulbs

	Below  20
	2

	Below  25
	6

	Below  30
	           24

	Below  35
	           45

	Below  40
	           78

	Below  45
	           89

	Below  50
	           92

	Below  55
	           98

	Below  60
	         100
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